ISP g

R L R SRR, R, AR F o 5 S A .
2. WAL FHRSEI 7 SEEAED, A 5

1. (20 7) R 2 B AR IOR MR T FE

Ou—Pu=Azr, 0<z<lI

u(z,0) =0, 0<z<I

u(0,t) =0, u(l,t) = Bt, t>0,
Hrp, A, B 2%

2. mRCH B L) AR KR

(e_i4”2‘§‘2t)“(a:) 1 e_i% &reR"
(dimt)n/? Y ’

Hor i = /=1 R BHEAL
(a) (10 73) HI Fourier 28 #7512 3R Mt i 5 155 J7 R R it
10u+ Au =0, ze€R"
{u(x, 0) = f(z).
(XH u:R" xR~ C 2 MUENE I REL)

(b) (10 %) FEsE E R T LA IR Y N1 £ — oo Y, w(x, t) 2/ERE?
1 4 B3 B

3. (15 7)) & R FRon LV, AR AR R B2 K g2 1 i)
Au=0, (z,y) R
u(z,0) = f(x).
4. (15 4r) & B F£/x R™ H 1K Br(xo). % u € CY(B) N C*(B) A&VAM, UFH:

| Du(zo)| < — max |ul.
R B



5. (15 70) FIBCORME R BIER] . #vL S5

Ou —0?u—20,u—2u=0, 0<x<l,0<t<T,
u(0,t) =0, u,(l,t)+u(l,t)=0, 0<t<T,
u(z,0) =0, 0<zx<I.

1y Bl X AR
(Ferr: BRERE v = e Mu(x,t), Forp X FFEIEHL)

6. & u(z,t) 2 HHEITTE
Pu—Au=0, zeR"
U(%,O) = f(x)a Ut(SC, 0) = g(l‘)
M. Fo f(x), g(x) RIGHERE, JFHAERE O8O R B3k B SMEANE

(a) (10 43) X
M(t) = / x - Vu(z, t)opu(z, t)dz.

UE: 3 PRI ¢ > 0, F4E C = C(R, L, [V fl2, lgll2) (B1 C 5 R, £, [V [, gl
HR)s B [M(1)] < C(R, L, [V ]2, llgll2) < +o00.

(b) (10 41) WEH
dcjl\f:—?;/ ufdx—k / |Vul?dx.

— L ATRE B E T
1. Fourier 24 A i A5 4.
/ flaye 2= dn, gla) = [ gl
R’!L
2. 1E58 6 @i,

IV ]2 = / (V) @)dz)". gl = / s@)dz)’



